Us(2).2

(mod 2)
blocks | defect | matrix
G: 1 11 41 x 9
2 1 2x1




Block 1: | p10 @2+ @it ©6,0 Y7+ Po+r P11,0 P2+  Plat
11 =x1,0 1
1o =x11 1 .
101 = x2,0 1
102 = X2,1 . 1 .
221 = X3+ 2 1 .
44, = x50 1 1
442 = X5,1 . . 1 1
551 = X6,0 1 1 1 1
55y =xe1| 1 1 1 1 :
110, = x4 . 1 1 1
1321 = x9+ 2 1 2 1
1102 = X11,0 1 1 1
1103 = X11,1 1 1 . 1
2207 = Y124 | .11
2202 = x14+ 2 3 3 2 1 .
1201 = X16,0 2 1 1 1
1202 = X16,1 2 . 1 1 . 1
1651 = X17,0 1 1 1 1
1652 = X17,1 1 1 . 1 . 1
1761 = X18,0 2 1 1 1
1762 = X18,1 2 . 1 . . 1 1
4401 = x19+ 4 2 3 2 1 1 2 .
4402 = X21+ . 2 . 1 1
5281 = X23+ 2 3 2 . 1 1
3201 = x25.0 4 2 12
3202 = X25,1 . 4 2 1 2 . .
6601 = X26+ 2 1 1 . 2 . 2 1
4403 = X28,0 2 4 3 1 1 2 1
4404 = X281 2 4 3 1 1 2 1 .
8801 = X29+ . 4 2 . . 3 . . 1
9901 = X314+ 4 5 5 2 2 2 2 1
9902 = X33+ 4 5 5 2 2 2 2 1
6602 = X35,0 2 2 3 1 1 1 1 1
6603 = X35,1 2 2 3 1 1 1 1 1 .
14081 = Y36+ . 6 5 2 . 4 . 1 1
17601 = X38+ 4 4 3 . 3 3 4 1 1
8911 = X40,0 5 2 3 1 2 1 3 1
8912 = X40,1 5 2 3 1 2 1 3 1 .
17821 = xa1+ 4 7 6 2 5 2 1 1
19801 = x43+ 2 ) ) 2 4 2 2 1




Block 1:
( ) ¥1,0 P2+ P4+ P60 P+ Po+ P11,0 Pl2+  Pla+
24301 = x46+ 6 8 8 3 5 4 2 1
pi0 = 11
w2y = 10; por = 802
par = 204 P = Th
Poo = 24 P12+ = 3200
o1y = 80 prs = 560
Block 2: | pi6,0
1024 = x50 | 1 Po0 = 102
102422)(4571 1




